o
3lof
s 7
h42
Z~0] 7
0]:_'_

o o}
16

1.

A
Ct-
=



o
3lof
s 7
h42
Z~0] 7
0]:_'_

o o}
72

2.

A
Ct-
=



-5<x<5%

@9 ® 8 @ 7 ® 6

D 10



] $1x|5kal, b = A™igho] 2 9l
= A0 -4 2} 6 o H-gote A T2 A AE
Elfl= Folth a+ bx c 9] & 12 H?

@ -3 ® 0 @ 3 ® 6



Hlo

ojn

@ 2x>2 ® x+2x=5

® 5x-2

® x+y=5-4x

@ x+x°



)

el

o
~

@ 3x+2=3x-1

=-2(-2x-1)

@ 4x+2
® 7x

@ 2x+2=0

=X

® x:5=6x:1



oA o8 T4 42& w27 el A

—_—

—_—

Q
|
RS
[
ﬁ__ I
Q Q
STEES TN
B E B
° o o
RIS
I !
SRS TN
D4 D

—_—

© =
+ H
= Q
N oD
S
l_l
s S SIO%
B OB OB
5o ° o
N QL QL 9
[T
ST N S
TET ==



k2 19 9] A, BOA

8.

@ 47 @ 57 @ 671 ® 7

@ 374






10. 90, 2* x 3 x 5% o] HtF o7

D 2x3x5 @ 22x32x5 @ 22 x3x52

@ 23 x3x52 ® 23 x32x52



11. T 422x3,2x33x59] Hf2okss?

D 2x3 @ 2x5 ® 3x5

@ 22x3 ® 2x 32



12. og HAFu5E Fofola,
2)16 40
() 8 20
L[] 10
2 []



N

@ 0.5

® 25



14. & d"8oA 712, A2, A 9=
O RETEENHIZTO, 0, ®, ®, @l
A2 Agolet,

YEHCOE
Y ERCE
SEHEE
pee-

S ERCE




15. oheo] AXTHIA AHER FAO] A W2 F Lek o] AgT
AL B Zee,
(+2) X (—3) X (+4) X (+2) X (—5)
(DX (-3 (-0 x (4D x (-5
=(+2) X (=8) X (+8) X (-=5)
=(+2) X (—=8) X (=5) X (+8) j®
=(+2) X {(=3) X (=5)} X (+8)
=(+2) X (+15) X (+8)
=(+2) X (+8) X (+15) j
=(+2) X {(+8) x (+15)}j®
=(+2) X (+120)
=240

D R
=%

D R
=%



o] o]&

Fe 74w g 1 2 AHgste] eholat,

ot



17. b= AS A o, 2] A7 o A] vl o2 she?

D 2ax (-4) @ 16x+ (2) ® gax (_%)



> i

ol Al M A(-2,2),B(4,-2),C(4,3) = &
BC 9] Wol=?

@ 15 A 17 @ 19



2 R4 o, g Fateler



20. -18rHE] 9 18 37 g2 P47k ek o] FolA 1 Kot
e i BE R A

D1 @ 2 ® 3 @ 4 ® 5



|x] <3

-5<x<1




@
(—%)3 X 24 =
=-3

@ (-1)100
- (-17)
=0



23. 290 99Ea, 125 AFE b T W, axb o F2?



24. y= %94 AR A (a, -3)E AL W, & (<24, a) &= A 2 AHEH

910] 1917 Tstelat,

a

[l

F

o



25. o= 2z it AE T 2 A

@ bo| g2 60t

@ Al 1,3 RS A v= A
i B




